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Find the equation of a line
given a point on the line and the slope (gradient)

Example:
Find the equation of the line passing through (-3,1) with slope 2.

Using Using
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Mid-point Formula : The co-ordinates of
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5. Slope of a Straight Line :
(i) If the inclination of a line is 8 (# 90°),
its slope = m = tan 6.
(i) Slope of a line through (x;, y;) and (x,,

ya) s given by m = =21

6. Equation of a Straight Line :

(i) Equation of a line parallel to x-axis is
y=b.

(ii) Equation of a line parallel to y-axis is
x=a. '

(iii) Equation of a line with slope m and
y-intercept cis y = mx + C.

(iv) Equation of a line through (x,, y;) and

with slopemisy -y =m (x-x;).
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